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Ql. A saves 35% of his income. If his income in- creases by 20.1%
I3 K and his expenditure in- creases by 20%, then by what
percentage do his savings increase or decrease? (correct to one

Exp . -1 7 decimal place)
Jo |3 A 3t 31a & 35% Bt aUa Bear 21 AfR IAT 3ma A 20.1% H R
\ / gieft 2 site 3 g A 20% H gfe At 2, t ITH q9a A
o wfdera &1 gfe a1 waft oft 2 (2ereresa & ve =0 e )

%gl ':r* \3 A) 18.5% of decrease | Bt &3l (B) 21.9% of increase | Bt gf
- \ o S 0. (C) 20.3% of increase | Bt gfE (D) 19.75% of decrease [ &l FHaft
13 .
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Q2. The income of A is 80% of B's income and the
expenditure of A is 60% of B's expenditure. If the income
of A is equal to 90% of B's expendi- ture, then by what
percentage are the savings of A more than B's savings?

A &t 3 B &t 31T B 80% £ 3412 A BT A B & AT BT 60% ¢!
afé A 6t 31, B & T & 90% & Tk ¢, dl A 6t g9d, B 6l
gaa & faa wfdera sfds & 2

(A)125% () 100%

»ol(B) 140% | (D) 150%
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Q3. The monthly expenses of a person are 66%% more than her

monthly savings. If her monthly income increases by 44% and her
monthly expenses increase by 60%, then there is an in- crease of

1,040 in her monthly savings. What is the initial expenditure (in )?

mmmmmmma{aasé% fds 21 afe 3adhi
fA® 31 A 44% Fi gfe At 2 30 35S fA® 77 & 60% H iR
gt 2, ot 3reht Anfde Tud A 21,040 6t gfe 2t 21 3mfares = (2 )
fhasre?

(8)12000

C) 13,000 (D) 9,000
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Q4. A person saves 33%% of his income. If the saving
increases by 22% and the expenditure increases by 10%,
the percentage increase in hisincomeis:

v Afth AT AT &I 33-%aaam%|zrl%aaaa? 22% it

q@amaﬁzaﬁa}m%ﬁq@z‘lm al 3Tt 3 A fbaa
ufdera i gfR gd»

(C)16% (D) 22%
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Q5. The monthly salary of a person was 21,60,000. He used to
spend on three heads - Personal and family expenses (P), Taxes
(T) and Educa- tion loan (E). The rest were his savings. P was
50% of the income, E was 20% of P, and T was 15% of E. When his
salary got raised by 30%, he maintained the percentage level of
P, but E became 30% of P and T became 20% of E. The sum of the
two savings (in) is:

e Afh &1 Afde ddst 2 1,60,000 a8 dist FAel- Afhara 302
uifRaifRss & (P), &2 (1) 312 foren o1 () W & &ear g1 &l &
IAD! FUd 1 P 3T BT 50% 2T dATE, P BT 20% AT 312 T, E BT 15% 2T
Uid 38 dddl A 30% &t g g2 dl I P &1 Ufderd e ugs fAden
& 21, et E, P BT 30% &1 31T 3412 T, E BT 20% &1 I1ATI Slail goal &bl

191 (2 R) fbdaen 22
(A) 2,11,680 (B) 1,28,160
(C)1,18,620 (D)1,62,810
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Q6. Ravi ate in a restaurant and got a membership discount of 30% on the
original bill amount but he had to pay 10% as services tax and 8% ser- vice
charge on the discounted bill amount. If Ravi paid Rs. 4,743 which included
a tip of Rs. 200, how much money did he give as services charge ?

2fd 3 v Eei A e WA v IS A B THA U 30% BT AeHdl IgT WA
fasan, weq 38 ag1 & are i fde eereifel w2 10% HaT He vd 8% Ha [ 3T
weetl 3Tl afe 2fd 3 4,743 U fAea 200 S w1 afERler enfAes 2, art fasan,
soiet At aﬁaimzﬁﬁm'a}m a1 far?
(A) 324 (B) 314

-
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Q7. A’ gave 25% of an amount to ‘B, from the money B got, he spent 30% on
a dinner. Out of the remaining amount, the res pective ratio between the
amount B kept as savings and the amount he spent on buying a book is 5:
2. If B bought the book for Rs. 460, how much money did A have in the
beginning?

A &1 B &1 T &aTerfel &1 25% f3am aran 312 eereifel & & B A 30% ailvial 2 g
fsai 89 ereterfal 3 & B & UTH Sd Ud U YEas ot SRTd 6 2ifel &1 Jreurd

\ 1'%
g Book. el 5 : 2 81 Af B A 98 YEa® 460 HUT A WA, dt A & ura 3Ra A ot
g . o owfereftz
a.c (A) 12600 (c) 12000 (D) 9000
15 \
= '%-5;&
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Q8. Bhavana decided to donate 12% of her monthly salary to an
orphanage. On the day of donation, she changed her mind her
donated Rs. 2,400 which was 125% of what she had decided earlier.

How much is Bhavana's salary?

AT & 3T AMAD ddel BT 12% AHSATATHA B alal oot &l favfa f3ar
arel & fast 3 3rva favfa e fRan vd 2400 U a1t fRan &t g
fReffa are1 &t erereifel @1125% 1 3iTaen &1 Alfde ddel aaT & ?

(A) Cannot be determined [ fatefRRa st fasar o aawar

(B) Other than those given as options/[3sTd & ®13 olal
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3 8 Y 60 Q9. Gaurav spent Rs. 38460 on the renovation of his home,
Rs. 24468 on buying home theatre and the remaining 28% of

o‘( L‘ (1 6 8 the total amount he had as cash with him. What was the

- — \20° / totalamount ?

G A 7 L8 IMed A 38460 SUE I[E Yelew I Ud 24468 SUE IE fvee 3 w2

1 {3511 $o5 ereTeTfel 1 219 28% IHS UTH AP 21 $& WA

289 erareifel e 2ft 2
1. (A) cannot be determined | faefRRa sidl fdsar i1 @war (B)
C& 138 X100 faall Other than those given as options/ fd®&a & &4 & 2T 31T 31

BF (D) Rs. 92,600
B | S I
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Q10. Monthly income of Ajay is A, he spends x from it. There is c%

increase in his income and D% increase in his expenditure next
A.V‘ ( | + —C—- ) -— LR ( l _,_'-'D ) month. Then what is the amount of savings now?

o 100 AT it AMAS 31T 2 A &, € SHDI 2 X T dedl 21 30TS AT, ITb1
A A c% B, qa wd A D%aﬂaa’m?ﬁz’liﬁ% al o€ gua &t gsterfel
.-:naﬁfav

(A)A(1+ ) - X(1+ ) (B) 155 (€~ D)X (1 +555)

100

(¢) x(c - p)/100 (0) x (%2)




I Maths By Pradeep Sir :-

QIl. Suri gave 25% of her monthly salary to her mother. From the remaining

salary, she paid 15% towards rent and 25% she kept aside for her monthly
expenses. The remaining amount she kept in bank account. The sum of the
amount she kept in the bank and that she gave to her mother was Rs.
42000. What was the monthly salary?

et A 3r9at AMfAS dd BT 25% AT ATAT DI 2 2T 219 Adet A & IHA 15% AT
faseran sreraft A e fasan vd 25% 3T 387e anfée g & 3 1o 2 R A
mﬂﬁmhﬁmmﬁmlwﬁmﬁwﬁmﬂwqﬂm |
a1 1 &1 918 ercTerfel &1 AT 42000 SUT 2ATI IHDT A& ddel o AT ?

(A) Rs. 50,000 B) Rs. 60,000 (C) Rs. 65,000 (D) Rs. 64,000
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QI12. Ratio of the earnings of Aand B is 4: 7. If the earnings of A
increase by 50% and that of B decrease by 25%, the new ratio
of their earnings becomes 8: 7 what are A's earnings ?

A Td B 1 3T BT 3SUTd HALL: 4: 7 21 AR A Ft 37 F 50% FHi
gfe & oie vd B &t 3T A 25% &t Hedt g1 AT dt IS AT BT
1T 3{e(UTd 8: 7 2 ITa 21 A i sma 22

(A) Rs. 21000 (B) Rs. 27000

(C) Rs. 24000 (D) Data inadequate | 31T 3TATE
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QI13. Every year Meenakshi invests 20% of her annual salary in PPF and
spends 30% of her annual salary on paying rent. Every month, she spends
20% and 15% of the monthly salary on groceries and travelling
respectively. After paying the mentioned monthly expenses (including
rent), she puts the remaining amount in the bank as savings. In a year, she
is able to put Rs. 1,79,760 in the bank as savings. If she invests in PPF from
her annual savings at once, what is the amount that she invests in PPF?

Hareft ufd adf 3rq6tt aiffes 3T &1 20% HT aifdwy A A fAder Hedl & vd 30%
311 faseran sreraeft ue oo wedt 21 wfd AT a7 3raelt Afaes 3 &1 20% Td 15%
T hatel: TATeTesl Td ATAT U2 T el g1 o1 AAT & UK 9 99d & &4 & 2
¢reTeTfel b A AT Hedl 21 Th af A g 9 A 1,79,760 SUT Hl gud Hedt 21 afe
ag oifd=y fAfe A aiffes gua & v ATy fAder Hedt &, at aifdsy fAfe A fAdfera

efeTeTfel T & ?
(A) Rs.1,03,600 (B) Rs.1,04,800
(C) Rs.1,02,720 (D) Rs.1,05,600
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Q14. The respective ratio between the monthly salary of Neil and that of
Dipti is 5: 6. Neil and Dipti, both save 40% and 25% out of their respective
monthly salaries. Neil invests 5/8th of his savings in LIC and Dipti invests
3/5th of her savings in LIC. If Neil invests Rs. 1750 more than Dipiti in LIC,

what is Neil's monthly salary?

oftes vd 4 & Arafds ddet &1 3s(uTd Wwael: 5: 6 81 3t vd i@ el 3ruat ST
Ade BT HAH2I: 40% Td 25% Tad Hed & ftes 3ueht aad B 5/8 1T oftaat dtenm &
vd 4@ a9t gad &1 3/5 T Htaa dten & Ader sea £ afe sfte dfd 1750
SUT arel fAder sear g uc &, at oftes &1 A1 ade a1 22

(A) Rs. 20000

(C) Rs. 40000 D) Rs.15000

-.' '._ -
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QI15. The respective ratio between the monthly salary of Om and that of Pihu
is 7: 9, Om and Pihu, both save 20% and 40% out of their respective monthly
salary. Om invests 1/2 of his saving in PPF and Pihu invests 7/9t of his

savings in PPF. If Om and Pihu together save Rs. 17500 in PPF, what is Pihu's

/ monthly salary?
3 vd fAg ot anfde 3 siqqara water: 7: 9 81 3 vd fig siueht s sma A &

el 20% T 40% 3T 6 §Ud Hea &1 3113 Uit gad BT 34mem 37 aifdey fAfd &
fRder wear & wafd fAg srusht aa &1 7/9 ot aifdwa fAf & fAder wear 21 af
alail o affd=a fafel & 5 17500 Hue &t aua i, al fag Ht afds sra T e 2

(a) 72,000 (b) 36,000

(c) 45,000 (d) 32,000




